Higher Mathematics

Topic 10 - Trigonometry

Outcome 1 - Double angle sine formula

Bronze example

SOH CAH TOA

Example..

If x is an acute angle with sinx =
find the exact value of sin2x.

1. Formula
Sheet

sin2x = 2sin x cos x

2. Drawa
right
angled
triangle

**Use
Pythagl**

Bronze questions

Rig@ur Maths

sin2A = 2sin AcosA

For each of the following, determine

the exact value of...

1 If Aisanacute
9 X .
angle with tand ==

2
find the exact
value of sin2A4.

If K is an acute
angle with cosk =é

find the exact
value of sin2K.

5 If M is an acute
angle with tanm =2

7
find the exact
value of sin2M.

Outcome 2 - Double angle cosine formula

Silver example

Example..

If x is an acute angle with cosx = \1—?
find the exact value of cos2x.

1. Formula
Sheet

cos2x = 2cos®x — 1

1,
-1

_ ou can
V5 by

use any
formula)

. Squareit,
double it
and take
away 1|

Outcome 3 - Addition formulae

Gold example

Example..  SOH CAH ToA

If A and B are acute angles with
sind = - and cosB = % find the

exact value of sin(4 T B).

1. Formula Sheet 2. Draw RAT's
sin(A + B) = sinA cosB + cosAsinB
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10-1 - Trigonometric formulae

Silver questions

For each of the following, determine

the exact value of ...

1 IfAisanacute
&3 . 1
angle with cosd ==

4
find the exact
value of cos24.

If vis an acute

i
-

angle with siny =

7
find the exact
value of cos2y.
é If Aisan acute
angle with tanB = %

find the exact
value of cos2B.
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If x is an acut

angle with sinx = =

find the exact
value of sin2x.

If pis an acut

s
e é/

12
13

e

angle with sinp =g

find the exact
value of sin2p.

If ais an acut

=]

angle with cosa = 19_0

find the exact
value of sin2a.

cos 2A = cos® A —sin® A
=2cos’ A—1

=1-2sin* A

If x is an acute

angle with tanx =§

find the exact é/

value of cos

2x.

If Z is an acute
angle with cosZ =§

find the exact
value of cos2Z.

If Aisan acute

angle with s

.9
inp =7

find the exact

value of cos

2p.

Gold questions

sin(A+B)= sinAcosB £ cos AsinB

cos(A+B)= cosAcosBFsinAsinB

-;lﬂ If Aand B are acute angles with sind =% and
cosB =g find the exact value of sin(4 + B).

an

If Aand B are acute angles with sind = > and

13

cosB = \% find the exact value of sin(4 — B).

If Aand B are acute angles with sind =i and

cosB = ﬁ find the exact value of cos(4+ B).

If Aand B are acute angles with sind = ll_n and

cosB =§ find the exact value of cos(4 — EB).
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